
3 

91. Longitudinal waves can travel through : 

(a) Vacuum 

(b) Solid 

(c) Liquid 

(d) Gas 

(1) a, b and c 

(2) b, c and d 

(3) a, c and d 

(4) a, b and d 

92. Acceleration due to gravity (g) on the earth is : 

(1) Maximum at the poles 

(2) Maximum at the equator 

(3) Maximum at 1000 km above earth's surface 

(4) Maximum at the centre of the earth 

93. Metals are good conductors of electricity because 

(1) they have high melting point 

(2) they contain free electrons 

(3) the atoms are tightly packed 

(4) All are true 

94. Light that travels into the eye passes through 

several parts to get to the retina. The correct 

order is : 

(1) cornea, pupil, lens, vitreous humour 

(2) lens, cornea, pupil, vitreous humour 

(3) cornea, lens, pupil, vitreous humour 

(4) pupil, cornea, lens, vitreous humour  

91. 3T-IkEzi 'a* 1.-r rrivq7 trw{ 	Trwt ? 

(a) f9-4d 

(b) d 	t-1 

(c)  

(d)  

(1) a, b*c 

(2) b, c 41T d 

(3) a, c 3fti d 

(4) a, b alt d 

92.tpt 'TT 17-471 c-cRuf (g) "RN t7T* : 

(1) T4 TR 31f4T71:1 

(2) "Nisr ‘(.1 TR 3f4-*--di4 

(3) 72,1. 	14 1000 km d-o-R 3TfwaTT 

(4) tpt 	TIT 

93. Nre ITT   .1,1114) : 

(1) 3ifW alai 

(2) d14 tacit7#-q rf 

(3) and 34.7 3T-- rOTT Tfirrau tr4 

(4) T13-11' 9-1•9 tc 

94. mcniw 	f*-74 q'f 31tal 14) mrtt 7•• 3#14 

fqfiT 9-Trrff 4-4 	Ifvcra7 cicb trtqth 	I 6(--I4)T 

Tit TTT 111 : 

(1) “, -•rq-r`ti 

(2) 4“, 	 

(3)-ate 1#7, 	 4)1 	4I 

(4) 	c r ,tames 18(4, 
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95. The diagram represents the straight line motion 

of a car. Which of the following statements is 

true ? 

95. 	to( V,a-) cnit 	7:ftt turif Trfff 1 31---ffrff 

cnor* 174  *r *T7-17 T2T 	: 

t(s) 
2 
	

5 
	

9 
	

2 
	

5 
	

9 

(1, The car accelerates. stops, and reverses 	 (1) -T•{ Ti1i ii i 441 	t)cti 	34'g41'Mt* 

(2) The car accelerates at 6m/s- for the first 2 s 	(2) cbR Tgt 2 *f*T * ki 	6m/s2 7 Tifffl:fR c*. 

(3) The car is moving for a total time of 12 s 	 (3) *R' 12 14*T 7*-  -c4r1ci t5ci 

(4) The car decelerates at 12m/s- for the last 4 s 	 (4) 	3117T*4 A*t 12m/s2**7 -4T-* 791* 

96. In the below diagram, R1  > R2  > R3, Rank the 

three resistors according to the current in them 

from least to greatest. 

96. 	.F-7 TR 	IA 	-14 R > R2  > Rs, * I 7 *91 

3f-d.44-4 	-1,21 454 (4,01 fa-g 971 * 	 

3TIFIR " *4,44 

I ---1F-A-R 

S 

R3 

(1) 1, 2, 3 (1) 1, 2, 3 

(2) 3, 2, 1 (2) 3, 2, 1 

(3) 1, 3, 2 (3) 1, 3, 2 

(4) All are same 
	

(4) Tfiff w-11-1 
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97. In the diagrams below, all light bulbs are identical 

and all batteries are identical. In which circuit 

(A, B, C, D) will the bulbs be dimmest ? 

97: 	 '“9.11 	74-ft 3r7pitzi 

741 	iafTz6 	 :;m1 	514 A Nig Afk7_ 

(A, B, C, D) 	Tr-q-4 q"ri-t 	? 

A 

(1) A 

(2) B 

(3) C 

(4) D 

B C D A 

(1) A 

(2) B 

(3) C 

(4) D 

B C D 

98. A brick slides on a horizontal surface. Which of 	98.   4f-ffq' 	TR 	 A ai -r-Tft 

the following will increase the frictional force on it ? 

(1) Putting a second brick on top 

(2) Decreasing the surface area of contact 

(3) Increasing the surface area of contact 

(4) None of the above 

99. Rehana looked at the moon on different nights 

and recorded what she saw ? 

Rift .3“ 	r111.1 airr7401   ? 

(1) 31:1* 6141 	1-) 3t 	ttA-11 

(2) 3T1-* ?{17401t-1n5 T 4777 'elZT 

(3) 377  	 9T 

(4) 31:17:'FITE 14 	-15 

	

99. 51-1f 3-177-31-01111-4 	74-5,4-11 t #11 4)7 3t7 

r-p--11014.f #21-f-d7Tftm-rt 

2 May 
	

8 May 	15 May 	23 May 
	

2 1:r- 
	

8 TT.1 	15 1,f- 
	

23 

What was the shape of the moon on 23 May ? 
	

2 3 1:r- 	74- 1-11 'TT 3iTTIT .#TIT PAT ? 

(1) 
	

(2) 
	

(3) 
	

(4) 
	

(1) 
	

(2) 
	

(3) 
	

(4) 
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100. A boy fires a gun and hears its echo after 2 

seconds. If he is 480 m away from a wall, calculate 

velocity of sound in air : 

(1) 240 m/s 

(2) 480 m/s 

(3) 960 m/s 

(4) none of the above 

101. What is 0 in the following diagram ? 

100. •crw rischi 	1T net) 	MR 2 t.).: 	'WEIR( 

77-4 Trimarff t-mr* I aTTR chit -4 480 Lt 

(5s( 	4 t4fff *44 Truffr Tr-4R I 

(1) 240 m/s 

(2) 480 m/s 

(3) 960 m/s 

(4) 771-4ff -4- 	T6T 

101. TR 411-cili e 	r -crrff 	)411 ? 

(1) 30° (1) 30° 

(2) 45° (2)  45° 

(3)  90° (3) 90° 

(4) 60° (4) 60° 

102. Which of these is the safest place to be in a 	102. 

thunderstorm ? 

cl 5 C1 

? 

TP:17 51 p-Tri t1c4 	IFfkiff 

5 

(1) 	Under a tall tree (1) TT *1 

(2) 	In a wide open field (2)  

(3) Ina car (3) 31'7 

(4) 	Holding onto a metallic rod (4) 1 4, 495 y°h5 it  
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103. Which one of the following is not a biodegradable 	103. 794 1:1*i i4 1-1,41.ntul vs-Fw Td* ? 
polymer ? 

(1) PLA 

(2) PGA 

(3) PHBP 

(4) PVC 

104. When vinegar is allowed to react with baking 

soda, bubbles are observed because ? 

(1) t. Ta. 

(2) t. t. 

(3) T1. AI 

(4) tft. t. 

104. Rit 	-grr4 * Tfrt sTrifwzri wTOerr1e-0 

71:rfff7 	crq .  : 

(1) Oxygen gas is produced 	 (1) 311Wrfr-A7 frg ,ICi 	t 

(2) Hydrogen gas is produced 	 (2) 	•71-f * 	 

(3) Heat is produced 	 (3) dou-IT 	 *th 

(4) Carbon dioxide gas is produced 	 (4) cm 	-r 31133t-4Tir7 *ti acvfr-i i)C11 

105. Which one of the following is not a green house 	105. 	ofiocr 	tR .crw ficr 1j -1174 	? 

gas ? 

(1) Methane 	 (1) 1#0i 

(2) Water vapour 

(3) Carbon dioxide 

(4) Carbon monoxide 

106. What will happen when a paper cup containing 

water is heated a candle ? 

(1) The paper cup starts burning 

(2) The water in the cup becomes warm 

(3) The paper turns to pulp and the cup breaks 

(4) Paper is a bad conductor so water does not 

get warm 

(2) 70 TIscr 

(3) 4,14-r -zrzaTT- crrTg 

(4) chi 	-f +-1 -1 31f7RT7 

106. Mt 14 I-14 11141,4 	 Hcirf T7 74 mt1 1:11 

74r -Om ? 

(1) chi 	1,31 TT WEI 'o 	4 i 

(2) •Wq 	trrt T  t ARiir 

(3) cbms4 77 •TwJif if-77 WI 7 ,tiwri 

(4) chimsi a2jiirich 11:Tf-07 TrIt 7114 Te triT 
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107. Which one of the following is not a synthetic fibre ? 

(1) Rayon 

(2) Acrylic wool 

(3) Nylon 

(4) Silk 

108. Which is not a polymer ? 

(1) PVC 

(2) PTFE 

(3) CFC 

(4) SBR 

109. Given below are two statements : 

(a) Non metals react with oxygen forming non 

metallic oxides.  

107. 14-1R1 i_cf 4.4 ch -1 .c.rW -1'qc tic( #11 "ffe 	? 

(1) I 	441-1 

(2) . f-54-)1(1,4-) 

(3) 	 

(4) 	 

108. 	-142( 	.1 -f-41 t;ci, t4qcich  	? 

(1) tft. 

(2) t. 	T4). 

(3) TT. 	 ft. 

(4) 7t. t. 3TR. 

109. f9T-9APT if TT? 'eTrr9 	: 

(a) 3M17 31t4TitTi 	3-Ti91fTm 	3Ttuf— T.  

(b) Non metallic oxides are acidic in nature. 	 (b) 3-11--Tfr 	 F.:14 

(1) Statements (a) and (b) are correct 	 (1) -T217 (a) T (b) 	 Tit 

(2) Statements (a) and (b) are incorrect 	 (2) •-219 (a) 	 (b) 	 +Mc' tf 

(3) Statement (a) is correct and (b) is incorrect 	(3) T2ii (a) 	 .74 T2Ti (b) ,Tract* 

(4) Statement (a) is incorrect and (b) is correct 	(4) ••2..T9 (a) 1irrct 7-4 q7.2Ta (b) Trt 

110 Which of the following is not a fossil fuel ? 	110. 	 4 .4 	7-T•  	 ? 

(1) CNG 	 (1) T. 7. It. 

(2) TNG 	 (2) tr. 7. 

(3) PNG 	 (3) 	T. 

(4) LPG 	 (4) 	Tft. 

111 Inflammable substances have : 	 111. ,,,sto-iikf 4cr4 	: 

(1) Low ignition temperature so can easily catch 	(1) 	Ttf ch+4 51c-11*7-4f97 	wocwi4ci 3Trrr 

fire 	 7T-7 

(2) High ignition temperature so can easily catch 

fire 

(3) Low ignition temperature so do not catch 

fire easily 

(4) High ignition temperature so undergo 

spontaneous combustion 

(2) sPicii 1-1 3TRTT  	3T1TT 

tr-*7 	 

(3) s,-, (.1-r 	dig chi4 511r 7-Fiti77 	371 

-ref 1amslt 

(4) sari-1'fflTE 311t1 	5.1cif t7-411f 	-i1->f 774": q•-1 

idt t* 
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112. The slow process of conversion of dead vegetation 

into coal is known as : 

(1) Carbonization 

(2) Carbonification 

(3) Coal formation 

(4) Fossilization 

113. If zinc can replace iron from its salt solution and 

iron can replace copper from its salt solution then 

the order of the reactivities Zn, Cu and Fe is : 

(1) Cu > Zn > Fe 

(2) Zn > Cu > Fe 

(3) Zn > Fe > Cu 

(4) Zn < Fe < Cu 

114. What is BOD ? 

(1) A parameter to measure air pollution 

(2) A parameter to measure water pollution 

(3) A parameter to measure soil pollution 

(4) A parameter to measure noise pollution 

115. Malaria is caused by : 

(1) female Anopheles mosquito 

(2) male Anopheles mosquito 

(3) a protozoan 

(4) Bacillus 

116. Deforestation is not responsible for which of the 

following ? 

(1) Soil erosion 

(2) Desertification 

(3) Flooding 

(4) Increase in water holding capacity of soil  

112.  	crt 	1 51c1-04 510 cf.: 	u tiRac.i.-f 7'7 *5c-f 

: 

(1) chi,g-t ch(uf 

(2) a-)1411-1Fil 

(3) *)71-fft 

(4) zi-iciiNHchor 

113. q 77rr 	-3Tr*-  ocrur * fq-dzriR fq7-21Tfc17 mt 

4r{ c.-115r   olur 

fa-P,Trfcm 	 Zn, Cu 7-4 Fe *• 

-wr 7-14 	,ir : 

(1) Cu > Zn > Fe 

(2) Zn > Cu > Fe 

(3) Zn > Fe > Cu 

(4) Zn < Fe < Cu 

114. t. 	t. airs 	? 

(1) arksrlErgr 	Tr* 	ir119-1 

(2) Arf TrIErur *)• Tr* 	4i1-1( 

(3) 4.jf 7-t-Ern-r 

(4) wf -57rur i 4-11,14 

115. 4-1(1RzIT 	*Rut : 

(1) 4-111 LOILKII-rf 4-1-cOt 

(2) '97 Qj14rr1'ft 4iTic.9 

(3) kcb 171-341  

(4) •flzr-dTr 

116. q9)-4199 	 rRSV-1 	? 

(1) 4.jf 3-717-q-9-  

(2) Tr7T-2T9-1-*7-7 

(3) wry 	T 31TF1 

(4) 1:171 	riqr{-7 qrr7r 1-t 
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117. 'Red Data Book' is a record of : 

(1) Endemic Species 

(2) Endangered Species 

(3) Extinct Species 

(4) All living Species 

118. Transfer of hereditary characters from parents to 

offsprings takes place by means of : 

117. 4 4T 3TZt 	4 f 	i frwrl -Om* : 

(1) Failq 	sourcvii 

(2) iichdr-I-1 siwiiaai  

(3) f4-17 	 

(4) Tri-ft 

118. ati437-4-*-114 46i > 3T-Itftrw tIIt1 t 12-Th1tM74 
f91F 71i tffit : 

(1) Cell Membrane 	 (1) obliqicht fit rt? 

(2) Chloroplast 	 (2) sI 	f ciao 

(3) Ribosome 	 (3) (iv,') 	)44 

(4) Genes 	 (4) 

119. A silkworm develops into a silkmoth by : 	 119. 7w 	cbid 	fit 3r-*-4 	yi1-1 -1Z 7914 
4 Fachiiid 	: 

(1) Fertilisation 	 (1) f9-kqff 

(2) Implantation 	 (2) k 	Hui 

(3) Budding 	 (3) Tf.,7i 

(4) Metamorphosis 	 (4) cmiimuf 

120. Which of the following is not a method to obtain 	120. filF 4 14 tff-141 AFWErt 14 *79 Trr7 	ichqi 

potable water ?   ? 

(1) Candle filteration 	 (1) it7 

(2) Adding detergent 	 (2) 3Ttr4r-AT frro-r9t 

(3) Boiling 	 (3) dqtriif 

(4) Adding chlorine tablets 	 (4)aTh-17 T eff Zif fit 

121. Pulmonary artery carries : 	 121. 	trrrt 	: 

(1) 02 - rich blood away from the heart 	 (1) 02  - *-11,s1Wi 771 -4 

(2) 02  rich blood to the heart 	 (2) 02  - 	TwT 	3117 

(3) CO2  - rich blood away from the heart 	 (3) CO, - 	7-17 -4 

(4) CO2 - rich blood to the heart 	 4 C. 	- 	T.-174 
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122. Which of the following is a peokaryotic cell ? 	122. cp-licifigti 	**it -qw 37117-th't alfkimft ? 

(1) Onion cell 	 (1) tzTi7 	en Pleb( 

(2) Blue-green alga 	 (2) *--6ficf *-1TR 

(3) Cheek cell 	 (3) wcli'MalfYimf 

(4) Cell of Tradescantia 	 (4) 	-kill 	etAlebf 

123. Frogs are : 	 123.  	: 

(1) Viviparous animals with internal fertilisation 	(1) aiiffftw f9TY‘i •qi7TP:17 

(2) Viviparous animals with external fertilisation 	(2) 7r-41 fikaff qc wra7 7'q 

(3) Oviparous animals with internal fertilisation 	(3) 3Tfafrw fr 3f-4-7 A 

(4) Oviparous animals with external fertilisation 	(4) ii .f 	31t7 

124. Which glands donot release their secretion into 	124. *i-i ljfitzit 331:FT -414 ai    *7-4 ? 

ducts ? 

(1) Sweat glands 	 (1) 7* fi--24-4t 

(2) Endocrine glands 	 (2) 3-m .N1c1 -flizrzTi 

(3) Oil glands 	 (3) i7 

(4) Salivary glands 	 (4) 7rT 

125. The cellular structure that determines the sex of 	125. ch 	(-R=41171 fvrqj   fiqtrm wTal : 

a child is 

(1) Cytoplasm 	 (1) Ali 	 

(2) Cell Membrane 	 (2) .1, 	1.1-4 

(3) Nucleolus 	 (3) 

(4) Chromosomes 	 (4) 'FT 7 
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126. Find the measures of all the angles of a *t Tutt 4c 1371 ifs 126. 	-) 	747 * TT* *71 

parallelogram, if one angle is 24° less than twice 24° 6oeht 	-> Quf zi,rt cur 	sq4 

the smallest angle : 

(1) 	65, 115, 65, 115 (1) 	65, 115, 65, 115 

(2) 	68, 112, 68, 112 (2) 68, 112, 68, 112 

(3) 60, 120, 60, 120 (3) 	60, 120, 60, 120 

(4) 66, 114, 66, 144 (4) 66, 114, 66, 144 

127. Tap A can fill a tank in 4 hours and Tap B can fill 127. q R 	A 7*• 	••-1 4 Ek 9M B 

it in 6 hours. If they are opened at alternate hours F-t1 61411 17771% -ff9 A*1.91 ' 
and if Tap A is opened first, in how many hours 9h1-1 ITT4 1-{# i;k -4 9-F B TfirFf ,311(1f *, 	 

will the tank be filled ? 1-*-79-r Trim 	? 

2 
(1) 	5 	hours 

(2) 5 hours 

2 	., 
(1) 5-

3 
17a 

(2) 5 tk 

(3) 4 hours (3) 4 '4 

2 2 	., 
(4) 4 -

3 
hours (4) 4 -

3 
7a 

128. A number of chocolates is divided into groups of 128 	sip rfchc)d *1 2, 3 uRii 5 * Ti-17 	mc-qa, 

2, 3 and 5. Each time one chocolate is left over. -) 1-04-74-1,44 44c:id 

The least number of chocolate is : 

(1) 	41 (1) 41 

(2) 	31 (2)  31 

(3) 21 (3) 21 

(4) 	11 (4) 11 

129. In the following figure if 11 1112 	 129. fa-it 371 fa 	11 12  

What is the value of x + 

(1) 180 - w + z 

(2) 180 + w - z 

(3) 180 -w-z 

(4) 180 + w + z 

y ?  

11 	 12  

71 x+y*t 7F9 ziT 	 ? 

(1) 180-w+z  

(2) 180 + w - z 

(3) 180 - w - z 

(4) 180 + w + z 
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130. If each edge of a cube is increased by 50%, then 	130. 'ik 	sr-i* 7F* fart if 50% IfZ 	77, 71 

the percentage increase in its surface area is 	 art "Th 4-A-tmTT .1.t 	: 

(1) 100% 

(2) 75% 

(3) 50% 

(4) 125% 

131. (a — b)3  + (b — c)3  + (c — a)3  = 

(1) (a + b + c) (a2  + b2  + c2  — ab — bc — ca) 

(2) (a — b) (b — c) (c — a) 

(3) 3 (a — b) (b — c) (c — a) 

(4) 3 (a + b + c) (a2  + b2'+ c2  — ab — bc — ca) 

132. Let abc be a three digit number. Then (abc + 

cab + bca) divided by 37 gives remainder equal 

to : 

(1) a or b 

(2) b or c 

(3) a or c 

(4) o 

133. The mean of 200 items was 50. Later on, it was 

discovered that the two items were misread as 

92 and 8 instead of 192 and 88. Find the correct 

mean : 

(1) 41. 1 

(2) 50.9 

(3) 51.1 

(4) 60.9 

134. It 10 is added to four times a certain number, 

then the result is 5 less than five times the number. 

The number is : 

(1) 100% 

(2) 75% 

(3) 50% 

(4) 125% 

131. (a — b)' + (b — c)3  + (c — a)3  = 

(1) (a + b + c) (a2  + b2  + c2  — ab — bc — ca) 

(2) (a — b) (b — c) (c — a) 

(3) 3 (a — b) (b — c) (c — a) 

(4) 3 (a + b + c) (a2  + b2  + c2  — ab — bc — ca) 

132. q abc 	 Tfr (abc + cab + bca) 

t 37 *{ fatitf-A7 	ITT '51171 	sitiqt 51,11 : 

(1) a or b 

(2) b or c 

(3) a or c 

(4) o 

133. 200 7Fj3if T --17r9.-7T 50 	<=41 	 =f SAT LiNt TrZTT 

f•-• 2 •m:q3if •Tri:rri 192a88 - T-2-TFTrT 92 'q 8 (Ar 

Trot 2Tr, 	Trt -179 71Id 	: 

(1) 41. 1 

(2) 50.9 

(3) 51.1 

(4) 60.9 

134. 	f*-7:ft 4.981 	4 41-i I if 10 AHr 

Nit-clic+) 3* 51191 14 5 wri 	 : 

(1) 10 (1) 10 

(2) 20 (2)  20 

(3)  15 (3) 15 

(4) 25 (4) 25 



A 

F 

D   D 

A 

 

 

E 
1 
	F 

30° 	X° 
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135. The value of the expression is : 	 135. J12 + \112+ V12 + 	09 times 

\112+V12+ \/12+ 	co times 	 TIN : 

(1) 4 (1) 4 

(2) 3 (2)  3 

(3)  2 (3) 2 

(4) 24 (4) 24 

136. Find the value of x in the following figure : 	136. fir aTr-frff -11 x 	Trm Fa' 	: 

(1) 35° 	 (1) 35° 
30° 	 30° 

(2) 40° 	 (2) 40° 

(3) 45° 	 (3) 45° 

(4) 30° 	 (4) 30° 

137. What value of x will make CD II EF, If 	137. xt 6.4 'rim Tr( CD II EF 	 7* AB II CD 

AB II CD ? 

(1) 150 (1) 150 

(2) 145 (2)  145 

(3)  135 (3) 135 

(4) 140 (4) 140 
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138. A train travels first 300 m at an average rate of 

30 km per hour and further travels the same 

distance at an average rate of 60 km per hour. 

Then the average speed over the whole distance 

is 

(1) 35 km/hour 

(2) 42 km/hour 

(3) 40 km/hour 

(4) 45 km/hour 

139. Two dice are thrown simultaneously. The 

probability of getting a sum of 8 is : 

138. 7T• 	 300141. V 30 ft:4 3rfff 

14 74 4,(ri1 *72.1t 	300 -4 60 ft:4/Nu 

‘-rct tift chtca 	10 WIT 	to 

3f Trfu : 

(1) 35 ft:14/./TTI:4 

(2) 42 ft:ribtiu 

(3) 40 ft4/N 

(4) 45.k-141/W4 

139. t TrR4 	TRT 	 tr{ 3rRrer4 	af-4 -1t 8 

fw-d91 milq.nor ? 

7 7 
(1) 

36 (1) 36 

5 5 
(2) 

36 
(2) 

36 

5 5 
(3) 6 (3) 6 

7 7 
(4) 

6 
(4) 

6 

140. A polyhedron has 5 vertices and 8 number of 	140. 	 

edges. The number of faces is : 

1'9 	5-1•4q•Elf-*-7ft*itIT-Tet.i.t.,qi 

* : 

(1) 5 (1) 5 

(2) 4 (2) 4 

(3) 6 (3) 6 

(4) 7 (4) 7 

141. The value of x such that 2x -7  x 5x -4 = 1250 is : 141. fief' x "WI Trm 2x -7  X 5x -4 = 1250 : 

(1) 	6 (1) 6 

(2) 	7 (2) 7 

(3) 	8 (3) 8 

(4) 	9 (4) 9 

1 1 1 1 
142 If x + = 3, then the value of x2  + --T is equal 142. x + — = 3, X2  + WI TIM 'IT 	: 

X x X 

to 

(1) 	3 (1) 3 

(2) 	5 (2) 5 

(3) 	7 (3) 7  

(4) 	9 (4) 9 
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143. The ratio of number of males to the number of 

females in a family are 5 : 4. If there are 20 males 

in the family, the total number in the family are : 

143. 	ITT * 791 7 Tit-Mali 	4i.sqf ITT 3ITTIff 

5 : 4 	iis tift77 14 20 rti *, trir4R 

Trq:ziY   ? 

(1) 32 (1) 32 

(2) 36 (2)  36 

(3)  34  (3) 34 

(4) 40 (4) 40 

144. The smallest number by which 68600 be 

multiplied to get a perfect cube is ? 

144. 	-q•- • *-el• 	tt 	fWzr-A 68600 141,01 c4 1 

rpTi 49' 31T7f 	? 

(1) 3 (1) 3 

(2) 5 (2)  5 

(3)  7 (3) 7 

(4) 11 (4) 11 

145. In a class test in mathematics 10 students scored 

75 marks, 12 students scored 60 marks and 

8 scored 40 marks and 3 scored 30 marks, the 

145. 	v 

12 

30 

Titrff icitiq 10 	-1-11 	75 3-it. 

3E4'460 3-tztr8.0744031W7q131-Ai 

3f-- 	-sri71 rci,) 	31'4 -wr 	4If ? 

mode for their scores is : 

(1) 60 (1) 60 

(2) 30 (2)  30 

(3)  75 (3) 75 

(4) 10 (4) 10 

146. The Historian who used the word 'Hindustan' for 

the first time was : 

(1) Musa — i — Siraj 

(2) Mula — i — Siraj 

(3) Minhaj — i — Siraj  

146 	cWk--1.1-)R f774 	1'f 	7' 

t*-7(T 2.TT : 

(1) - 7 - #R-7. 

(2) vr - 7 - #77 

(3) fl:7 - 7 - #177 

(4) Mehtab — i — Siraj 	 (4) i-1511q - 7 - #17T7 

147. Which Mughal ruler made Fatehpur Sikri as his 

Capital City : 

(1) Shahjahan 

(2) Akbar 

(3) Aurangzeb 

(4) Jahangir  

147. f-*71 1TIT- 	A 75-0-7 #r-+-t 	34791-  7177-41-4 

2.T1 : 

(1) qii,3w 

(2) 3i1-“4 

(3) 34 

(4) Ott 	i)t 
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148. Alberuni wrote a book known as : 	 148. ar64F9/ * 'gRT fUzt .crw via, : 

(1) Khitab — a — Hind 	 (1) 	 - - 

(2) Kitab — al — Hind 	 (2) fabaiGi - 3T - 6-c 

(3) Khwab — a — Hind 	 (3) 1§7T4 - 7 - 6-c 

(4) Kitab — al — Hindi 	 (4) fWar4 - 31.9 - 

149. Ajmer is associated with a Sufi Saint named : 	149. 3T-413T - 9•-7:4 T44 	* 7114 74 71* ? 

(1) Salim Chishti 	 (1) tio14 fqval 

(2) Nawab Chishti 	 (2) laps( 1-47th 

(3) Muinuddin Chishti 	 (3) ITC1717  flVal 

(4) Farid Chishti 	 (4) th-117 -h"Fdl 

150. 'Doctrine of Lapse' was introduced by : 	 150. 'tquzi *1 	f"*-Tft 	 .1T : 

(1) Lord Dalhousie 	 (1) 	 sc4,41 

(2) Lord Canning 	 (2) 	*f9:Tr 

(3) Warren Hastings 	 (3) iik4 t#E714 

(4) Mountbatten 	 (4) iiide.d•-f 

151. Mahalwari revenue settlement was associated 	151. Hicialk 	eiztt-cf 	ft-M:4 71 2,T1 : 

with : 

(1) Villages 	 (1) -ffrg wi6 

(2) Farmers 	 (2) f+7791 

(3) Zamindars 	 (3) 711174 

(4) Middlemen 	 (4) TratRff 

152. Who took the decision that Bahadur Shah Zafar 	152. f*TA 	'ft* 	oil 	gl-ST qii6 A41( 31t1:1 Tirf 

will be the last Mughal Emperor ? 	TY4 : 

(1) Governor General Canning 	 (1) 4ici-k zi-w4 *F411 

(2) Governor General Dalhousie 	 (2) 	 sr-ikrr 	 

(3) Warren Hastings 	 (3) cft4 	 

(4) Robert Clive 	 (4) 7r4Z crolv=1 

153. Ceylone is the ancient name of : 	 153. 4-019' ralticrq 7917 911:1* : 

(1) China 	 (1) 1-i 

(2) Tibet 	 (2) fffq7 

(3) Bhutan 	 (3) TN 

(4) Sri Lanka 	 (4) 311 rime 

S173 U PC/12—SAT-VIII-2 



18 

154 Raja Ravi Verma is known for his . 	 154. Tyr pfd 	3riTif-z 	ebItuf 3-fe1t : 

(1) Bravery 
	

(1) WO 

(2) Paintings 
	

(2) kichtit 

(3) Kindness 
	

(3) .7471  

(4) Donations 
	

(4) clic' of 

155. The associate of Edward Luteyns in making Delhi 155. *174. 	: 114-1 uf 	s 711714 
was 

(1) Herbert Baker (1) 77-0 pmt 

(2) Harvard Baker (2) 74-4.  elicht 

(3) Harbour Baker (3) 	cicnt 

(4) Harry Potter (4) it 4k( 

156. Who wrote Gulam Giri ? 156 1014-1 	*7-41-4-di 	: 

(1) B.R. Ambedkar (1) 	347.  

(2) Jyoti Rao Phule (2) .-tilictkict 

(3) Ramaswami Naikar (3) 

(4) 	Periyar (4) tiftzU 

157. After independence, which type of economic 

system was adopted by India 

157. it-ciciACII TP7T-q, W'gR1 

3T 9T 	Trt : 

3TOTT.  

(1) Mixed economy (1) frifso 3T 	Tr 

(2) Socialist economy (2) #14-imaic1 3T 	Tr 

(3) Capitalist economy (3) Vrare? 3T2far-qmr 

(4) None of the above (4) z-cr4w -4 

158. Where was the first Petroleum refinery 

established in India ? 

158. 1-1R7 	f77:11:09 Titer qllrif --gT Teel:1ff 

Trt eff ? 

(1) Naharkatia 	 (1) 	 

(2) Tinsukhiya 	 (2) 	lt tv.i( 

(3) Digboi 	 (3) t7r4r 

(4) Guwahati 	 (4) Trgra 
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159. From which language is the word 'Agriculture' 	159. WAlchC11(' 	ti)  	371f7 	 91r9T 	? 

derived' ? 

(1) Latin 

(2) Arabic 

(3) Parsian 

(4) Sanskrit 

160. What is 'Nagercoil' in Tamil Nadu famous for ? 

(1) Thermal Energy Farm 

(2) Wind Energy Farm 

(3) Solar Energy Farm 

(4) Water Energy Farm 

161 Which metal is found in large quantities in 

Monazite sand of Kerala ? 

(1) Copper 

(2) Bauxite 

(3) Thorium 

(4) Mica 

162. What is the difference between Birth rate and 

Death rate known as ? 

(1) Growth Rate 

(2) Development Rate 

(3) Natural Growth Rate 

(4) Natural Development Rate 

163 What are the resources obtained from plants and 

animals known as ? 

(1) Abiotic Resources 

(2) Biotic Resources 

(3) Renewable Resources 

(4) Non-Renewable Resources  

(1) 	 ITTETT 

(2) 3iit 3-1TEfT 

(3) 777:11 3Trurr 

(4) Tfzbff 

	

160. 	 9' 	csbi4 	 ? 

(1) --urfrzi 31,71i m-p# 

(2) 41-f 	th-P4 

(3) IN d'A 

(4) AIM 	tb-ni 

	

161. *79 	H -1),711e. 	cf-;)-f-TIT qrq f4-779 

? 

(1) lisif 

(2) 11cH-11d. 

(3) tirfp-4-14 

(4) 31IAT 

	

•162. '2-1T -597 	3T— T 	4zr!  	? 

163. alt-14 3frT 	szi 3 	3C4--r #4F-4-91 	4,4 7171 

Air ? 

(1) 3Ti4 7.417RT 

(2) -**7 Tf7T9-  

(3) 34`374 4,14P17 	-litch4u1q #4117i 

(4) ,6-(-1--(1,4-0,:itlq #717J 
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164. Which country is the largest producer of coffee 	164. 9--141t4,1 ri:Ra -4 flaffliT m11:0 3V-1Ic-f 	? 

in the world ? 

(1) Brazil 

(2) India 

(3) Sri Lanka 

(4) Japan 

165. Which industry based on Metallic minerals is 

not always located near its mines in India ? 

(1) Copper 

(2) Gold processing 

(3) Aluminium 

(4) Iron Ore 

166. Which is the longest river of Peninsular India : 

(1) Krishna 

(2) Kaveri 

(3) Narmada 

(4) Godavari 

167 What are the hills located to the South and East 

of Brahmaputra river known as ? 

165. 	rt/17-7:11 tTlfff 75If971 TrT 3-71WITU 	 

art 371-4 	trrA 	t-dr ? 

	

167. 77v 	*40Yr 72T T4 -4 "ft-Rm4isqt 	 

	

A Ai-a. 	? 

(1) Purvanchal 	 (1) Tql-q- 

(2) Shivalik 

(3) Trans-Himalayas 

(4) Himadri 

168 What is the general direction of winds during the 

advancing Monsoon Season in India ? 

(1) North East 

(2) South West 

(3) South East 

(4) North West  

(2) Niciirricti 

(3) .,it-1154itrig 

(4) fgArt 

168. 1-TrMlif 3TfuTT T(FT 	Tri7g fq71 TErf ? 
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169. Which of the following state has the most 	169. 1-14--rfriloci 14-4*T*114r7d1z1 77414 'TTrittrd 39‘7I 

favourable sex-ratio in India ? 	 ? 

(1) Punjab 

(2) Rajasthan 

(3) Kerala 

(4) Haryana 

170. Which of the following is correct ?  

(1) 4,114 

(2) 71W-P419 

(3) *M 

(4) 	 

170. 	 414 	-7:11. 	174 ? 

(1) The union list has 66 subjects, state list has 	(1) 74E! t41 66 1,444,717:11:& 97 ic144,111:r4altmit 

	

97 subjects & concurrent list has 47 subjects 	 47 iciti4 

(2) The Union list has 47 subjects, State list 	(2) TiEr t-ca 47 icrig, 71:1 Tit 97 fawn, 7Trmal t41 

	

has 97 subjects & concurrent list has 66 	 66 icitI4 

Subjects 

(3) The union list has 97 subjects, State list 47 	(3) *r tina 97 raqq, 	t-al 47 fawn, 1:11:11t 7:& 

	

subjects & concurrent list has 66 subjects 	 66 citiel 

(4) The Union list has 97 subjects, State list 	(4) TtEr -71 97 icrle4,114 Tit 66 1.144, 174-1-d1 

	

has 66 subjects & concurrent list 47 subjects 	 47 ictqg 

171. The two forms of Govt. are : 

(1) Parliamentary and Presidential 

(2) Central and State 

(3) Direct and Indirect 

(4) All of-the above 

172. Parliament means : 

(1) Central Sabha + Rajya Sabha 

(2) Rajya Sabha + Gram Sabha 

(3) Lok Sabha + Rajya Sabha + President 

(4) Gram Sabha + District Sabha 

173. Head of the Rajya Sabha is called : 

(1) President 

(2) Vice President 

(3) Governor 

(4) Prime Minister  

171. olchniN.i.) 	* Tcf *ff-74 t ? 

(1) 31a1VM:FT 

(2) 	 

(3) .51- 1 T 	31.5171$i 

(4) 3-1:11-0Rif 

172. 	74 3:ifi-1371 	: 

(1) *-1171 TNT + tisr4 TNT 

(2) ti.-q TNT + 117( TNT 

(3) 7 wT + fl-44 	+ Ufa 

(4) 771 111-1T + FAME 7:11-11 

173. ti.-41 7417 *1--pirtrf-d 	r Am( 	: 

(1) •Trctrrff 

(2) dLRILILI 	cf 

(3) tis-,q4Lik-f 

(4) •51t17491 
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174. In the country, in the absence of President and 	174. kvt TRT:ri7 34)7 3LItN4 cf 	'34--frfwfu -41 	 

Vice President, the duties are performed by : 	 ct i44Trt 	744-77-di ? 

(1) The speaker of Lok Sabha 

(2) Prime Minister 

(3) The Chief Justice of India 

(4) Defence Minister of India 

175. For which of the following a citizen can directly 

go to High Court ? 

(1) Fundamental Rights 

(2) Fundamental Duties 

(3) Political Rights 

(4) Social Rights 

176. If a child of 13 years works in a carpet factory, 

which of the following fundamental Rights has 

been violated ? 

(1) Right to equality 

(2) Right of freedom 

(3) Right against exploitation 

(4) Right of religions liberty 

177 A Govt. that does not have to follow any religion, 

does not believe in any religion and does not 

prohibit the propagation of any religion is called : 

(1) Religious Govt 

(2) Secular Govt.  

(3) Unreligious Govt. 

(4) All of the above 

178 The head of ruling party in Lok Sabha is called : 

(1) President 

(2) Governor 

(3) Speaker 

(4) Prime Minister  

(1) 	WTI 	3Tt7R-T 

(2) 31qT9 H 

(3) 11rTff 	TIWt 	 

(4) 7..TT 4-1.41 

	

175. 	fCbq 3fT 1 TItqr 	-11,-41r14 if 7T 

? 

(1) Tfrf-ow 31-N-*-r{ 

(2) tirrffT 

(3) 	 31-N-Trt 

(4) ,t-111-11 zich 3-Tfq--*-7 

	

176. 	V,* 	qd 	64'n-11*r-019* chl(i_ql 	1:17-St 

*tit* 77* f*-44 TK7T-  3-Thichlt *1 5-1-f 31.1t ? 

(1) -11-11-lcif 	r 31fi--ithR 

(2) taninr t 331-9-4.bi{ 

(3) faTz ,311-ilchR 

(4) '-triiErT  	3111--1,411,,  

	

177. 15 4:14,*It "f7W+7 3-1-791 	9-4 -15 .  t 71 9 s't 9-114 

	

T1T9t 4 9 t 3 	 Sri 	fcf 	m,--114.-77T ITT 

	

,44.c+,K 	cor wg•-• 	? 
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179. On which date the Indian Constitution was 	179. t*-Tft fai-0 	ITF-d-17 #f-qq9 7z1-1-t-u 3 7rT3Tr 

adopted and enacted ? 

(1) 15 August 1947, 26 Nov. 1949 

(2) 26 Nov. 1949, 15 Aug. 1950 

(3) 15 Aug. 1947, 26 Jan. 1950 

(4) 26 Nov 1949, 26 Jan. 1950 

180. The 'SAARC' was established in 1985 in Dhaka 

but it has its head quarter in • 

(1) Kathmandu—Nepal 

(2) New Delhi—India 

(3) Colombo—Sri Lanka 

(4) Thimpu—Bhutan  

(1) 15 31117RT 1947, 26 	1949 

(2) 26 1c44-.R 1949, 15 3Trim 1950 

(3) 15 34TrRT 1947, 26 77111' 1950 

(4) 26 -1.14-c4( 1949, 26 79-1t 1950 

180. 	T-21TrriT 1985 if .icr)114 	Trt 77:1TT ttNirv-{ 

cr)i 	TTZTT ? 

(1) chIcSI-n-11-11(.4 

(2) t R(4---1-Trra 

(3) ch'ic-ii-,it-33fir 

(4) f2P31-1-77 
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